Jennifer Craig participated and concurs with the recommendation
The District solicited 253 vendors and received 45 responses
RFP# 17-20 Refrigerated and Frozen Foods

9PS - Failed to provide product sample 4MO - Minimum order quantities too restrictive

1NL - No low when unit price is calculated 3TQ - Tast Quality of product unacceptable

4BV - Best Overall Value 4NS - Not to specifications

Quote#	Vendor / Supplier	EPCNT	Discount
570792	*AEM ECK ACQUISITION INC	Yes	0
570759	*ARYZTA LLC	Yes	0
570800	ASIAN FOOD SOLUTIONS	Yes	No Catalog pricing submitted
570782	BRAUN BEEF CO INC	Yes	N/A
570778	BRIDGFORD MARKETING COMPANY	Yes	N/A
569782 568740	*C H GUENTHER & SON INC *CAL-TEX CITRUS JUICE LLP	Yes Yes	Minimum order quantities is N/A
569797	CHEFS CORNER FOODS	Yes	2 pallet minimum
570900	*CHURCHFIELD TRADING COMPANY COMIDA VIDA INC	No Yes	No
	CONAGRA FOODS INCORPORATED	No	We are not submitting any N/A
570762	*DEL REAL LLC	No	0%
570785	*ES FOODS	Yes	5% discount from catalog/price list only
570787	FOSTER POULTRY FARMS	Yes	0%
	*GENERAL MILLS SALES INC	No	2% if funds in General Mills'
567736 569757	*GOOD SOURCE SOLUTIONS GOODMAN FOOD PRODUCTS	yes as long YES	N/a 5,000 lbs. COMBINED MINIM
567743	GREGORY PACKAGING INC	Yes	N/A
568737	HEART OF TEXAS BISCUITS INC	Yes	0%
570803	HIGH LINER FOODS USA INC	yes	5%
570767	HOSTESS HOLDINGS LP	No	N/A
570763	INTEGRATED FOOD SERVICE	Yes	N/A
569784	*J AND J SNACK FOODS SALES CORP	No	0
569790	*JENNIE O TURKEY STORE SALES LLC	Yes	0
569783	JTM PROVISIONS CO INC	no	10%
570790	KELLOGG SALES COMPANY	Yes	N/A
567741	*MCI FOODS INC	Yes	5%
567738	*MCLANE EXPRESS INCORPORATED	NO	11%
568742	*MICHAEL FOODS	yes	0% discount. 1,000 lb minimum delivery
570771	*NATIONAL FOOD GROUP INC	Yes	NA
568760	OUT OF THE SHELL LLC "PILGRIM'S PRIDE CORP	Yes, as Yes	No discount offered at this -
569796	PINNACLE FOODS CORPORATION	No	N/A
570793	*PRAIRIE MILLS BAKING COMPANY LLC	Yes	0
569770	RICH CHICKS, LLC	Yes	1%
	*RODRIGUEZ FOODS, UTD	Rodriguez	0%
		Foods, Ltd. Will extend	270
569769	SCHWANS FOOD SERVICE	this bid to No	N/A
570796	SKY BLUE FOODS LLC	Yes	0%
569787	*STERLING BV INC	Yes	300 cases mixed delivery
569758	SUPER BAKERY INC	Yes	0%
	TASTY BRANDS LLC	Yes	0
568767	THE FATHERS TABLE LLC	YES	1%
	TYSON PREPARED FOODS INC *VAN WOLFS LLC	Yes - Tyson no	Minimum Order Quantities: 0
	WINDSOR QUALITY FOODS COMPANY LTD	Yes	1%

Bid#:	32158	Title: 17-20 Refrigerated and
		Frozen Foods

Garland Independent School District GISD Sourcing Bid Tab Report

		Award						
Line#	Item Description	(Y / N)	Reason for Deduction	UOM	Supplier	Qty	Price	Extended Price
1	BEEF ENCHILADAS, 51% WHOLE GRAIN BREAD COMPONENT		9PS	cs	*MCI FOODS INC	3000		
		Y	4BV	cs	*FOSTER POULTRY FARMS	3000		
	(CPT) BEEF FAJITAS, RAW, MARINATED STRIPPED SKIRTS,			CS	BRAUN BEEF CO INC	3000	\$58.27	\$174,810.0
2	LOWER SODIUM PREFERRED, 10# CASE	Y		CS CS	*MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	3000 3000	\$65.19	\$195,570.0
3	BISCUIT, 51% WHOLE WHITE WHEAT, PAR-BAKED, PRE- SLICED, NO TRANS FAT		1NL	cs	TYSON PREPARED FOODS INC	500	\$15.25	\$7,625.0
			4NS	cs	*GENERAL MILLS SALES INC	500		
			1NL 1NL	CS CS	BRIDGFORD MARKETING COMPANY *PRAIRIE MILLS BAKING COMPANY LLC	500 500	\$23.00	\$11,500.0
		Y	4BV	CS CS	BRAUN BEEF CO INC CONAGRA FOODS INCORPORATED	500 500	\$26.85 \$26.88	\$13,425. \$13,440.
4	BLUEBERRIES, IQF, 20# BULK, USAGE DEPENDS ON USDA ALLOCATION BROCCOLI CUT, GRADE A CUTS WITH 35% HEAD MATERIAL,			cs	*MCLANE EXPRESS INCORPORATED	100		
5	20# BULK	Y		CS CS	*MCLANE EXPRESS INCORPORATED *CHURCHFIELD TRADING COMPANY	1000 1000		
6	(CPT) CHICKEN FAJITAS, RAW, MARINATED, LOWER SODIUM, PRE-CUT IN STRIPS, 7/2#	Y		cs	*MCLANE EXPRESS INCORPORATED	2150		
				CS CS	BRAUN BEEF CO INC TYSON PREPARED FOODS INC	2150 2150	\$25.42 \$32.50	\$54,653. \$69,875.
7	CHOW MEIN NOODLES, IW, 140 EA/CASE	Y		CS	*MCLANE EXPRESS INCORPORATED	300		
				CS	BRAUN BEEF CO INC	300	\$29.725	\$8,917.
				cs	ASIAN FOOD SOLUTIONS	300	\$30.00	\$9,000.
							¢uuluu	\$0,0001
8	CROISSANT, WG, 210 EA/CASE		1NL	cs	*PRAIRIE MILLS BAKING COMPANY LLC	500		
			9PS	cs	*CHURCHFIELD TRADING COMPANY	500		
		Y	4BV	CS	BRAUN BEEF CO INC	500	\$36.80	\$18,400.0
				66		500		
9	ROLL DOUGH, CINNAMON, 51% WHOLE WHITE WHEAT FLOUR, PRE-CUT, 2 OZ, INDIVIDUALLY QUICK FROZEN		9PS	CS CS	*MCLANE EXPRESS INCORPORATED *GENERAL MILLS SALES INC	500 700		
Ū		Y	9PS	CS CS	*MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	700	\$36.48	\$25,536.0
10	CINNAMON ROLL MINIS, IW, WG, 72/CASE		4NS 4NS	CS CS	SKY BLUE FOODS LLC BRAUN BEEF CO INC	1600 1600	\$20.81 \$24.30	\$33,296. \$38,880.
			4NS	CS	HOSTESS HOLDINGS LP	1600	\$27.36	\$43,776.
		Y	4BV	CS CS	*GENERAL MILLS SALES INC *MCLANE EXPRESS INCORPORATED	1600 1600		
11	CINNAMON SWIRLS, 2 PACK, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 72/CASE	Y		CS	SKY BLUE FOODS LLC	2000	\$27.77	\$55,540.
12	BROOKIE, CHOCOLATE CHIP. 51% WHOLW GRAIN COOKIE BAKED INSIDE A BROWNIE. IW, THAW & SERVE. 100/CASE	NA		cs	*STERLING BV INC	400		
13	COOKIE DOUGH, PUCKS, BUTTER SUGAR, 51% WHOLE GRAIN, REDUCED FAT, NUT FREE PREFERRED		9PS	cs	*PRAIRIE MILLS BAKING COMPANY LLC	750		
			3PP 9PS	CS CS	*J AND J SNACK FOODS SALES CORP BRAUN BEEF CO INC	750 750		
		Y	3TQ 3TQ 4BV	CS CS CS	*ARYZTA LLC *MCLANE EXPRESS INCORPORATED *VAN WOLFS LLC	750 750 750		
	COOKIE DOUGH, PUCKS, CHOCOLATE CHIP, REDUCED FAT,			CS	*STERLING BV INC	750		
14	51% WHOLE GRAIN, NUT FREE PREFERRED		9PS 3TQ	CS CS	*PRAIRIE MILLS BAKING COMPANY LLC *J AND J SNACK FOODS SALES CORP	2000		
			3TQ 3TQ 9PS	CS CS CS	*ARYZTA LLC *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	2000 2000 2000	\$33.86	\$67,720.
		Y	3TQ 4BV	CS CS	*STERLING BV INC *VAN WOLFS LLC	2000 2000 2000	<i>433.00</i>	ψ0 <i>1</i> , <i>1</i> 20.
15	COOKIE FROSTED, BIRTHDAY WHITE, 126/CASE		4NS 4NS	CS CS	SUPER BAKERY INC BRAUN BEEF CO INC	100 100	\$24.71 \$29.16	\$2,471. \$2,916.
16		Y	4NS 4BV	CS CS	*STERLING BV INC *GOOD SOURCE SOLUTIONS	100 100		
16	COOKIE, TRIPLE CHOCOLATE FILLED, IW, 120/CASE	v .	4NS 4NS 4BV	CS CS CS	*STERLING BV INC THE FATHERS TABLE LLC BRAUN BEEF CO INC	1000 1000 1000	\$39.50 \$43.15	\$39,500. \$43,150.
17	CORN DOG MINIS, WG, 40 SERVINGS/CASE		4MO 9PS	CS CS	*GOOD SOURCE SOLUTIONS BRAUN BEEF CO INC	4000	\$18.54	\$74,160.0
		Y	4BV	CS CS	*FOSTER POULTRY FARMS *AEM ECK ACQUISITION INC	4000 4000	\$18.70	\$74,800.
				CS CS	TYSON PREPARED FOODS INC JTM PROVISIONS CO INC	4000 4000	\$64.97 \$78.33	\$259,880. \$313,320.0
				03		4000	<i>\$1</i> 0.33	<i>\$</i> 313,320.
18	CORN, CUT, BULK, GRADE A FANCY, 20#, USAGE DEPENDS ON USDA ALLOCATION	Y		cs	*MCLANE EXPRESS INCORPORATED	250		
	ROLL, GLUTEN FREE, 51% WHOLE GRAIN, DINNER ROLL,							
19 20	BREADSTICK OR SIMILAR DINNER ROLLS, FROZEN DOUGH, 51% WHOLE GRAIN WHITE WHEAT EI OUR 2000S			CS		50	NB	N
20	WHEAT FLOUR, 240/CS	Y	3TQ 4BV	CS CS CS	BRAUN BEEF CO INC BRIDGFORD MARKETING COMPANY *J AND J SNACK FOODS SALES CORP	4200 4200 4200	\$15.88 \$16.36	\$66,696.0 \$68,712.0
				CS CS	*PRAIRIE MILLS BAKING COMPANY LLC *MCLANE EXPRESS INCORPORATED	4200 4200 4200		

Jennifer Craig participated and concurs with the recommendation The District solicited 253 vendors and received 45 responses RFP# 17-20 Refrigerated and Frozen Foods

Line#	Item Description	Award (Y / N)	Reason for Deduction	UOM	Supplier	Qty	Price	Extended Price
21	BREADSTICK, CHEESY GARLIC, 320/CASE	Y		CS	BRIDGFORD MARKETING COMPANY	1000	\$24.51	\$24,510.00
				CS	*GOOD SOURCE SOLUTIONS	1000		
				cs	TYSON PREPARED FOODS INC	1000	\$40.15	\$40,150,0
				03	TTSON FREFARED FOODS INC	1000	\$40.15	\$40,150.0
22	DONUT RING, BULK PACKED, 51% WHOLE GRAIN, 84/CS	Y		CS CS	*PRAIRIE MILLS BAKING COMPANY LLC BRAUN BEEF CO INC	1000 400	\$27.58	\$11,032.0
23	DOUBLE DOGS, MINI PULL APART HOT DOGS, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN BUNS, 90/CASE, BROOKS STREET BAKERY #60003 OR EQUAL			cs	BRAUN BEEF CO INC	200	\$69.04	\$13,808.0
20						200	00101	¢10,000.0
24	DUTCH WAFFLE, BULK PACKED, 51% WHOLE GRAIN, 48/CASE	Y		cs	*J AND J SNACK FOODS SALES CORP	800		
25	EGG ROLL, VEGETABLE, ENRICHED GRAIN FLOUR, 130/CASE	Y	3TQ 4BV	CS CS	WINDSOR QUALITY FOODS COMPANY LTD CHEFS CORNER FOODS	1400 1400	\$31.05 \$45.15	\$43,470.0 \$63,210.0
				CS CS	*SCHWANS FOOD SERVICE ASIAN FOOD SOLUTIONS	1400 1400	\$50.00	\$70,000.0
				CS CS	*MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	1400 1400	\$51.25	\$71,750.0
26	FISH, ALASKAN POLLOCK, 51% WHOLE GRAIN NACHO BREADING, SUITABLE FOR BAKING NOT FRYING, 20# CASE			cs	BRAUN BEEF CO INC	1500	\$47.06	\$70,590.0
	FISH, ALASKAN POLLOCK AND CHEESE FILET, 3.6oz. 51%			CS	HIGH LINER FOODS USA INC	1500	\$57.40	
27	WHOLE GRAIN. 20#/CASE	Y		CS CS	BRAUN BEEF CO INC HIGH LINER FOODS USA INC	500 500	\$54.95 \$62.40	\$27,475.0 \$31,200.0
	FLATBREAD, 6X6, FROZEN, PRE-COOKED, 51% WHOLE WHITE WHEAT, GRILL MARKS ON BOTTOM AND BUBBLED BROWNING SPOTS ON TOP, 192/CASE, RICH'S #14010 OR							
28	EQUAL		4NS	CS	THE FATHERS TABLE LLC	500	\$21.75	\$10,875.0
						500	* ****	617 150
		Ŷ	4BV	CS	BRAUN BEEF CO INC	500	\$34.30	\$17,150.0
29	FRENCH TOAST, MINIS, BERRY FLAVOR, INDIVIDUALLY WRAPPED, 72/CASE			cs	*GENERAL MILLS SALES INC	1500		
				CS CS	BRAUN BEEF CO INC *MCLANE EXPRESS INCORPORATED	1500 1500	\$25.29	\$37,935.
30	FRENCH TOAST STICKS, BULK PACK, 480 EA./CASE	Y		CS CS	*PRAIRIE MILLS BAKING COMPANY LLC CONAGRA FOODS INCORPORATED	1500 1500	\$24.28	\$36,420.0
				cs	*MICHAEL FOODS	1500		
				CS	*MCLANE EXPRESS INCORPORATED	1500		
31 32	HAM & CHEESE RIPPERS, WG, 105/CASE APPLE JUICE, 4 OZ FROZEN, 100% JUICE, 96/CASE	Y	3TQ	CS CS	*GOOD SOURCE SOLUTIONS *GREGORY PACKAGING INC	2300 15000		
		Y	9PS 4BV	CS CS	*MCLANE EXPRESS INCORPORATED *CAL-TEX CITRUS JUICE LLP	15000 15000		
33	ORANGE JUICE, FROZEN, 100% JUICE, 96/4oz./CASE		9PS 3TQ	CS CS	*MCLANE EXPRESS INCORPORATED *GREGORY PACKAGING INC	12000 12000		
34	MARGARINE SOLIDS, 30/1 LB, NO TRANS FAT, ALL VEGETABLE	Y Y	4BV	cs cs	*CAL-TEX CITRUS JUICE LLP *MCLANE EXPRESS INCORPORATED	12000 900		
34	VEGETABLE VEGETABLES, MIXED, GREEN BEANS, LIMA BEANS,	Ĭ		CS	*CHURCHFIELD TRADING COMPANY	900		
35	CARROTS, CORN, AND PEAS, GRADE A, 12/2.5#/CASE VEGETABLES, KYOTO BLEND, EDAMAME, BROCCOLI			CS	*MCLANE EXPRESS INCORPORATED	750		
36	FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F., 6/2.5# BAGS/CS	Y		CS	*MCLANE EXPRESS INCORPORATED	1200		
37	MUFFIN, ORANGE PINEAPPLE or SIMILAR FLAVOR, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 60/CASE	NA		CS CS	BRAUN BEEF CO INC *STERLING BV INC	1000	\$19.89	\$19,890.0
38	MUFFIN, STRAWBERRY OR SIMILAR FLAVOR, WG, IW, 120/CASE	Y		cs	SKY BLUE FOODS LLC	1000	\$17.70	\$17,700.0
				CS CS	*NATIONAL FOOD GROUP INC *STERLING BV INC	1000 1000		
39	PANCAKES, BUTTERMILK, BULK PACK, 144/CASE	Y		cs	*PRAIRIE MILLS BAKING COMPANY LLC	3000		
35	PARCARES, BUTTERMIER, BUER PACK, 144/CASE			03	FRAINE WILLS BARING COMPANT LLC	3000		
				CS	KELLOGG SALES COMPANY	3000	\$15.00	\$45,000.0
				cs	PINNACLE FOODS CORPORATION	3000	\$15.10	\$45,300.0
				cs	BRAUN BEEF CO INC	3000	\$15.49	\$46,470.0
				00		3000	\$13.45	\$40,470.
				CS	*MCLANE EXPRESS INCORPORATED	3000		
				cs	CONAGRA FOODS INCORPORATED	3000	\$19.69	\$59,070.0
40	PANCAKE MINIS, MAPLE FLAVOR, 51% WHOLE GRAIN, SINGLE SERVE, OVENABLE POUCH, 72/CASE	Y		CS CS	KELLOGG SALES COMPANY BRAUN BEEF CO INC	1500 1500	\$24.25 \$24.30	\$36,375.0 \$36,450.0
						1300	<i>φ</i> £4.30	φ30, 4 3U.(
				CS CS	*GENERAL MILLS SALES INC *MCLANE EXPRESS INCORPORATED	1500 1500		
	SANDWICH, HAM & CHEESE, INDIVIDUALLY WRAPPED, 51%			CS	CONAGRA FOODS INCORPORATED	1500	\$43.48	\$65,220.0
41	WHOLE GRAIN BREAD, 72/CASE	Y		CS CS CS	TYSON PREPARED FOODS INC *PRAIRIE MILLS BAKING COMPANY LLC TASTY BRANDS LLC	100 100 100	\$36.40 \$71.13	\$3,640.0
	SAUSAGE BISCUIT SANDWICH, INDIVIDUALLY WRAPPED,			60		100	şı 1.13	¢7,113.U
42	POULTRY SAUSAGE, 51% WHOLE GRAIN, 60/2.6 OZ/CS	Y		CS	HEART OF TEXAS BISCUITS INC	2500	\$22.20	\$55,500.

Jennifer Craig participated and concurs with the recommendation The District solicited 253 vendors and received 45 responses RFP# 17-20 Refrigerated and Frozen Foods

Line#	Item Description	Award	Descent (se Deduction	UOM	Supplier	054	Price	Extended Price
Line#	ten beschption	(Y / N)	Reason for Deduction	CS	Supplier TYSON PREPARED FOODS INC	Qty 2500	\$50.35	\$125,875.0
	SAUSAGE ROLL, BREAKFAST, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED, LOW SODIUM, 2.5 OZ,			CS	*PRAIRIE MILLS BAKING COMPANY LLC	2500		
43	DOUBLE B #4086 OR EQUAL	Y	9PS	CS CS	BRAUN BEEF CO INC *MCLANE EXPRESS INCORPORATED	500 500	\$24.54	\$12,270.0
	SAUSAGE ROLL, BREAKFAST, INDIVIDUALLY WRAPPED IN OVENABLE WRAP, 2 OZ, SMOKED CHICKEN AND BEEF							
44	KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED, 136/CASE #4289B SCONE DOUGH PUCK, LEMON BLUEBERRY, 51% WHOLE			cs	*MCLANE EXPRESS INCORPORATED	2250		
45 46	GRAIN, 96/CS SCONE DOUGH, STRAWBERRY 96/CS	Y Y		CS CS	*VAN WOLFS LLC *VAN WOLFS LLC	700 700		
47	STRAWBERRIES, NO SUGAR ADDED, SLICED, FROZEN, GRADE A, FANCY, USUAGE DEPENDS ON USDA ALLOCATION, 6/6.5#/CS					500	NB	٨
48	SWEET CREAM CHEESE BITES, 80 SERV/CASE	Y	3PP 4BV	CS CS	*J AND J SNACK FOODS SALES CORP *GOOD SOURCE SOLUTIONS	900 900		
49	TAMALE, CHICKEN TOMATILLO, IN HUSK, 51% WHOLE GRAIN		3PP	CS	*DEL REAL LLC	1500		
		v	3PP 3PP	CS CS CS	*MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC *MCI FOODS INC	1500 1500 1500	\$50.00	\$75,000.
				CS	*RODRIGUEZ FOODS, LTD	1500		
				CS	COMIDA VIDA INC	1500	\$128.77	\$193,155
50	TORNADOS BREAKFAST WRAP, EGG, TURKEY SAUSAGE AND CHEESE, BULK PACKED WITH PAPER SLEEVES INCLUDED IN CASE FARM WIND & CRAIN FORTH 14 SUCCASE			<u> </u>		500		
50 51	CASE, 51% WHOLE GRAIN TORTILLA, 24/CASE BREAKFAST SANDWICH, TURKEY HAM & CHEESE, IW, 100/CASE	Y	3TQ.	CS CS	*MCLANE EXPRESS INCORPORATED *PRAIRIE MILLS BAKING COMPANY LLC	500 1500		
52	WAFFLE STICKS, BULK, 51% WHOLE GRAIN	NA	4BV	CS CS	INTEGRATED FOOD SERVICE CONAGRA FOODS INCORPORATED	1500 2500	\$57.11 \$36.15	\$85,665 \$90,375
53	WAFFLE MINIS, MAPLE, SINGLE SERVE, 72/CS.		9PS	CS	KELLOGG SALES COMPANY	1000	\$24.25	\$24,250
		Y-alt.		cs	*GENERAL MILLS SALES INC	1000		
				CS	*PRAIRIE MILLS BAKING COMPANY LLC	1000		
				cs	*MCLANE EXPRESS INCORPORATED	1000		
54	WAFFLES, MINI, MAPLE CHIP, BULK, 81 SERV./CASE	Y		CS	*PRAIRIE MILLS BAKING COMPANY LLC	2500		
55	WAFFLE BITES, CINNAMON. IW. 51% WHOLE GRAIN. 72/CASE	NA		cs	KELLOGG SALES COMPANY	1500	\$24.25	\$36,375.
	CORN DOG, INDIVIDUALLY WRAPPED, SWEET BATTER 51% WHOLE GRAIN, BEEF AND/OR POULTRY, SKELETAL MEAT ONLY, FAT NOT TO EXCEED 20%, MUST WEIGH 3.2 OZ OR							
56	MORE, 72/CS	Y	1NL	CS CS	TYSON PREPARED FOODS INC GOODMAN FOOD PRODUCTS	300 300	\$15.60 \$26.10	\$4,680. \$7,830.
	SPAGHETTI WITH MEAT SAUCE, 51% WHOLE GRAIN,			CS	*FOSTER POULTRY FARMS	300	\$34.47	\$8 617
57 58	BEAN AND CHEESE DIP, PORTION PACKED (48 EA/CASE)	r Y		cs	*MCI FOODS INC	200	\$34.47	\$0,017
				CS	*STERLING BV INC	200		
59	BURRITO, BEEF BEAN CHEESE & SALSA IW, 80/CASE		9PS	cs	BRAUN BEEF CO INC	300	\$40.8975	\$12,269
			4NS	CS	WINDSOR QUALITY FOODS COMPANY LTD	300	\$41.68	\$12,504
				00				
		Y	4BV	CS	*MCI FOODS INC	300		
				cs	*FOSTER POULTRY FARMS	300		
	LASAGNA WITH MEAT SAUCE ENTREE. PACKAGED IN							
60	INDIVIDUAL OVEN SAFE CONTAINERS. 48/CASE			cs	*ES FOODS	300		
61	PORTION PACK MAC & CHEESE (LG ELBOW). 51% WHOLE GRAIN IN OVENABLE CONTAINERS. 30/6oz./CASE	Y		cs	JTM PROVISIONS CO INC	300	\$27.31	\$8,193
01	GRAIN IN OVENABLE CONTAINENS. 50/002/CASE			03		300	\$27.51	40,195
				CS	*ES FOODS	300		
	MEAL BREAK, TURKEY & CHEESE ON A HOGIE BUN, PACKAGED WITH 1/2 CUP FRUIT AND 1/2 CUP VEGETABLE.							
62	51%WHOLE GRAIN. IW. 30/CASE			CS	*ES FOODS	500		
63	MEAL BREAK, ITALIAN COMBO WRAP. MUST INCLUDE 1/2 CUP FRUIT AND 1/2 CUP VEGETABLE SERVING. IW. 30/CASE	Y		cs	*ES FOODS	500		
	MINI TWIN CHEESEBURGER PACKS ON A 51% WG BUN, IW IN OVENABLE WRAP. 96/CASE		3TQ	cs	INTEGRATED FOOD SERVICE	400	\$63.30	\$25,320
64	OVENABLE WRAF. SUCASE							

Jennifer Craig participated and concurs with the recommendation The District solicited 253 vendors and received 45 responses RFP# 17-20 Refrigerated and Frozen Foods

Line#	Item Description	Award (Y / N)	Reason for Deduction	UOM CS	Supplier TYSON PREPARED FOODS INC	Qty 400	Price \$85.88	Extended Price \$34,352.0
65	PEANUT BUTTER AND GRAPE JELLY ON 51% WG GRAHAM WAFERS. IW. 160/CASE	Y			TYSON PREPARED FOODS INC	500	\$69.86	\$34,930.0
66	PEANUT BUTTER & JELLY SANDWICH, GRAPE, WG, IW, 72/CASE	N	1NL	cs	TYSON PREPARED FOODS INC	500	\$34.01	\$17,005.0
		Y	4BV	CS	BRAUN BEEF CO INC	500	\$36.2133	\$18,106.6
				CS	*MCLANE EXPRESS INCORPORATED	500		
67	APPLE CINNAMON TEXAS TOAST, IW, 96/CASE	Y		cs cs	*NATIONAL FOOD GROUP INC *GOOD SOURCE SOLUTIONS	1500 1500		
	BEEF SAUSAGE & CHEESE BAGEL SANDWICH, IW 72/CASE				INTEGRATED FOOD SERVICE			\$85,338.0
68	CHICKEN, PULLED. NATURAL PROPORTION 60 WHITE/40	Y		CS		1800	\$47.41	
69	DARK. ALL NATURAL WITH NO ALLERGENS. 2/5#/CASE	Y	4BV	CS CS	TYSON PREPARED FOODS INC *AEM ECK ACQUISITION INC	750 750	\$30.37	\$22,777.5
70	CHORIZO (BEEF OR POULTRY-NO PORK) AND CHEESE BREAKFAST WRAP. INDIVIDUALLY WRAPPED. 51%WHOLE GRAIN TORTILLA. 100/CASE			cs	*MCI FOODS INC	1500		
	(BAK) DOUGH COOKIE BUTTER SUGAR (CATERING USE ONLY) 2 OZ/160 CT			cs		1500	\$50.17	\$75,255.0
71		Y	4NS 3TQ 4BV	CS CS CS	*PRAIRIE MILLS BAKING COMPANY LLC *J AND J SNACK FOODS SALES CORP *MCLANE EXPRESS INCORPORATED	50 50 50		
72	(BAK) DOUGH COOKIE, CHOCOLATE CHIP, (CATERING USE ONLY) 2 OZ/160CT	Y	3TQ 4BV	CS CS	*J AND J SNACK FOODS SALES CORP *MCLANE EXPRESS INCORPORATED	50 50		
73	(BAK) DOUGH COOKIE MACADAMIA NUT (CATERING ONLY) 2 OZ/160CT		3TQ	CS CS	*J AND J SNACK FOODS SALES CORP	50 50		
74	EDAMAME, SHELLED 15#/CASE	Y Y	4BV 9PS 4BV	CS CS	*MCLANE EXPRESS INCORPORATED *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	250 250	\$38.43	\$9,607.5
75	UNCURED TURKEY HAM SLICING LOG, 1.75" DIAMETER. (PREFER PRE-SLICED LOG). 30# CASE	Y	407	cs	*JENNIE O TURKEY STORE SALES LLC	300	¢conto	
76	TAQUITOS, CHICKEN & CHEESE, 140/CASE		4NS	cs	TYSON PREPARED FOODS INC	1500	\$30.01	\$45,015.0
			1NL	cs	WINDSOR QUALITY FOODS COMPANY LTD	1500	\$36.84	\$55,260.0
			4BV	cs	*MCLANE EXPRESS INCORPORATED	1500		
77	TURKEY BREAST STICK, IW, 400 EA/CASE VANILLA DONUT GLAZE. TO PROVIDE GLOSSY SHINE AND	Y		CS	*JENNIE O TURKEY STORE SALES LLC	200		
78 79	GOOD CLARITY. 40# PAIL. VEGETABLE PINWHEEL, 96ea/CS	Y		CS	*ES FOODS	200 3000	NB	N
80	PINWHEEL, PHILLY STEAK & CHEESE, 51% WHOLE GRAIN,	NA		cs	*PRAIRIE MILLS BAKING COMPANY LLC	1000		
80	PINWHEEL, PHILLY STEAK & CHEESE, 51% WHOLE GRAIN, BULK PACKED. 96/CASE	NA		cs	*PRAIRIE MILLS BAKING COMPANY LLC	1000		
80		NA		cs cs	*PRAIRIE MILLS BAKING COMPANY LLC	1000		
	BULK PACKED. 96/CASE			CS	*ES FOODS	1000		
80	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE	NA						
	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. IW. 160/CASE			CS	*ES FOODS	1000		
81	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51%	NA		CS CS CS CS	*ES FOODS *ES FOODS	1000 400 1000 250	\$20.95	\$5.237. ⁴ \$7.500.
81	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. IM. 160/CASE YAKISOBA NODLES, 51% WHOLE GRAIN. PRE-COOKED,	NA		CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	1000 400 1000	\$20.95 \$30.00 \$30.75	\$7,500.0
81	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. IN 160/CASE YAKISOBA NOODLES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE	NA		CS CS CS CS CS	*ES FOODS *ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED	1000 400 1000 250 250 250	\$30.00	\$7,500.0 \$7,687.5 \$10,500.0
81 82 83 84	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. MJ. 160/CASE YAKISOBA NOODLES, 51% WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE MARINADE, BULGOGI. 6/2#/CASE BROTH, BEEF PHO. RICHLY SEASONED BEEF BROTH SUITIBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN.	NA		CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	1000 400 250 250 250 250 250 250 250 250	\$30.00 \$30.75 \$42.00 NB	\$7,500.0 \$7,687.5 \$10,500.0 N
81 82 83	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOULES, 1%/WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE MARINADE, BULGOGL 6/2#/CASE BROTH, BEEF PHO, RICHLY SEASONED BEEF BROTH SUTIBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/##/CASE BROTH, THAISTYLE VEGAN. FROZEN. READY TO USE. 4/#6#/CASE	NA		CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	1000 400 250 250 250 250 250 250	\$30.00 \$30.75 \$42.00	\$7,687.5 \$10,500.0
81 82 83 84 85	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. IN. 160/CASE YAKISOBA NOODLES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE BROTH, BEEF PHO. RICHLY SEASONED BEEF BROTH SUITBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE.	NA		CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB	\$7,500.0 \$7,687.5 \$10,500.0 N N
81 82 83 84 85 86	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. W. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. W. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. W. 160/CASE MARINADE, BULGOGI. 6/2#/CASE BROTH, BEEF PHO. RICHLY SEASONED BEEF BROTH SUITBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE	NA NA NA		CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB NB	\$7,500.0 \$7,687.5 \$10,500.0 N N
81 82 83 84 85 86	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. W. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. W. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. W. 160/CASE MARINADE, BULGOGI. 6/2#/CASE BROTH, BEEF PHO. RICHLY SEASONED BEEF BROTH SUITBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE	NA NA NA		CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB NB	\$7,500.0 \$7,687.5 \$10,500.0 N N
81 82 83 84 85 86	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. IV. 160/CASE YAKISOBA NOODLES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE MARINADE, BULGOGI. 6/2#/CASE BROTH, BEEF PHO, RICHLY SEASONED BEEF BROTH SUITBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/5#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. OATMEAL SQUARE, 51% WHOLE GRAIN. IW, 72/CASE	NA NA NA		CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB NB	\$7,500.0 \$7,687.5 \$10,500.0 N N
81 82 83 84 85 86 87	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. WI. 160/CASE VAKISOBA NOODLES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE MARINADE, BULGOGL 6/2#/CASE BROTH, BEEF PHO, RICHLY SEASONED BEEF BROTH SUITIBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE TWISTED STIX CINNAMON BLUEBERRY, 51% WHOLE GRAIN AND MOZZARELLA CHEESE. 96/CASE.	NA NA NA		CS CS CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS CONAGRA FOODS INCORPORATED	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB NB	\$7,500.0 \$7,687.5 \$10,500.0 N N
81 83 84 85 86 87 88	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. NI. 160/CASE YAKISOBA NOODLES, 51%/WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE MARINADE, BULGOGI. 6/2#/CASE BROTH, BLEF PHO. RICHLY SEASONED BEEF BROTH SUITBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE WINDE STIX CINNAMON BLUEBERRY, 51% WHOLE GRAIN AND MOZZARELLA CHEESE. 96/CASE. OATMEAL SQUARE, 51% WHOLE GRAIN. IW, 72/CASE SOFT FILLED CINNAMON TOAST CRUNCH CEREAL BAR. 51%	NA NA Y		CS CS CS CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS CONAGRA FOODS INCORPORATED *J AND J SNACK FOODS SALES CORP *GENERAL MILLS SALES INC	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB NB	\$7,500.(\$7,687.(\$10,500.(N
81 83 84 85 86 87 88	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. NU 160/CASE TAKISOBA NOODLES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE BROTH, BEEF PHO. RICHLY SEASONED BEEF BROTH SUITIBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE TWISTED STIX CINNAMON BLUEBERRY, 51% WHOLE GRAIN AND MOZZARELLA CHEESE. 96/CASE. OATMEAL SQUARE, 51% WHOLE GRAIN. IW, 72/CASE SOFT FILLED CINNAMON TOAST CRUNCH CEREAL BAR. 51% WHOLE GRAIN. 72/2.360z/CASE	NA NA Y		CS CS CS CS CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS CONAGRA FOODS INCORPORATED *J AND J SNACK FOODS SALES CORP *GENERAL MILLS SALES INC *MCLANE EXPRESS INCORPORATED	1000 400 250 250 250 250 250 200 200 200 300 1500	\$30.00 \$30.75 \$42.00 NB NB	\$7,500.(\$7,687.(\$10,500.(N
81 83 84 85 86 87 88	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. WI. 160/CASE VAKISOBA NOODLES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE MARINADE, BULGOGL 6/2#/CASE BROTH, BEEF PHO, RICHLY SEASONED BEEF BROTH SUITIBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. FROZEN. FROZEN. FROZEN. AND MOZZARELLA CHEESE. 96/CASE. 004TMEAL SQUARE, 51% WHOLE GRAIN. IW, 72/CASE SOFT FILLED CINNAMON TOAST CRUNCH CEREAL BAR. 51% WHOLE GRAIN. 72/2.3602/CASE	NA NA Y		CS CS CS CS CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS CONAGRA FOODS INCORPORATED *J AND J SNACK FOODS SALES CORP *GENERAL MILLS SALES INC	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB NB	\$7,500.0 \$7,687.5 \$10,500.0 N N
81 82 83 84 85 86 87 88 88 88 89	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. NU 160/CASE TAKISOBA NOODLES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE BROTH, BEEF PHO. RICHLY SEASONED BEEF BROTH SUITIBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE TWISTED STIX CINNAMON BLUEBERRY, 51% WHOLE GRAIN AND MOZZARELLA CHEESE. 96/CASE. OATMEAL SQUARE, 51% WHOLE GRAIN. IW, 72/CASE SOFT FILLED CINNAMON TOAST CRUNCH CEREAL BAR. 51% WHOLE GRAIN. 72/2.360z/CASE	NA NA V NA		CS CS CS CS CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS OUT OF THE SHELL LLC ASIAN FOOD SOLUTIONS MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS CONAGRA FOODS INCORPORATED *J AND J SNACK FOODS SALES CORP *GENERAL MILLS SALES INC *MCLANE EXPRESS INCORPORATED	1000 400 250 250 250 250 250 200 200 200 300 1500	\$30.00 \$30.75 \$42.00 NB NB	\$7,500.0 \$7,687.5 \$10,500.0 N N
81 82 83 84 85 86 87 88 88 88 89	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. NU 160/CASE TAKISOBA NOODLES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE BROTH, BEEF PHO. RICHLY SEASONED BEEF BROTH SUITIBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE TWISTED STIX CINNAMON BLUEBERRY, 51% WHOLE GRAIN AND MOZZARELLA CHEESE. 96/CASE. OATMEAL SQUARE, 51% WHOLE GRAIN. IW, 72/CASE SOFT FILLED CINNAMON TOAST CRUNCH CEREAL BAR. 51% WHOLE GRAIN. 72/2.360z/CASE	NA NA V NA		CS CS CS CS CS CS CS CS CS CS CS CS CS	*ES FOODS *ES FOODS UT OF THE SHELL LLC ASIAN FOOD SOLUTIONS MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC CHEFS CORNER FOODS CONAGRA FOODS INCORPORATED *J AND J SNACK FOODS SALES CORP *GENERAL MILLS SALES INC *GENERAL MILLS SALES INC	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB NB	\$7,500. \$7,687.5 \$10,500. N N \$11,608.0
81 82 83 84 85 86 87 88 88 89 90	BULK PACKED. 96/CASE BREAKFAST BOWTIE, EGG AND CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. BULK. 160/CASE BREAKFAST BOWTIE, EGG & CHEESE WRAPPED IN 51% WHOLE GRAIN DOUGH. NU 160/CASE TAKISOBA NODDES, 51%WHOLE GRAIN. PRE-COOKED, HEAT AND SERVE. 4/5#/CASE BROTH, BEEF PHO. RICHLY SEASONED BEEF BROTH SUTIBLE FOR PHO OR RAMEN APPLICATIONS. FROZEN. READY TO USE. 4/6#/CASE BROTH, THAI STYLE VEGAN. FROZEN. READY TO USE. 4/6#/CASE TWISTED STIX CINNAMON BLUEBERRY, 51% WHOLE GRAIN AND MOZZARELLA CHEESE. 96/CASE. SOFT FILLED CINNAMON TOAST CRUNCH CEREAL BAR. 51% WHOLE GRAIN. 72/2.4302/CASE FRENCH TOAST BITES, CHOCOLATE CHIP. IW. 51% WHOLE GRAIN.	NA		CS CS CS CS CS CS CS CS CS CS CS CS CS C	*ES FOODS *ES FOODS UT OF THE SHELL LLC ASIAN FOOD SOLUTIONS *MCLANE EXPRESS INCORPORATED CHEFS CORNER FOODS CONAGRA FOODS INCORPORATED *J AND J SNACK FOODS SALES CORP *GENERAL MILLS SALES INC *MCLANE EXPRESS INCORPORATED *GENERAL MILLS SALES INC *MCLANE EXPRESS INCORPORATED	1000 400 250 250 250 250 250 250 250 250 250 2	\$30.00 \$30.75 \$42.00 NB NB \$39.36	\$7,500. \$7,687. \$10,500. N \$11,808. \$11,808. \$11,808. \$36,375.

Line#	Item Description	Award (Y / N)	Reason for Deduction	UOM	Supplier	Qty	Price	Extended Price
92	FROZEN 100% JUICE CUPS, WILD CHERRY. 96/4.4oz./CASE		3TQ.	cs	BRAUN BEEF CO INC	500	\$21.72	\$10,860.00
		Y	4BV		*J AND J SNACK FOODS SALES CORP	500		
93	FROZEN 100% JUICE CUPS, WATERMELON. 96/4.4oz/CASE		3TQ	CS	BRAUN BEEF CO INC	600	\$21.72	\$13,032.00
		Y	4BV	cs	*J AND J SNACK FOODS SALES CORP	600		
94	FROZEN 100% JUICE CUPS, MANGO/STRAWBERRY SWIRL. 96/4.4oz./CASE		9PS	cs	BRAUN BEEF CO INC	600	\$21.72	\$13,032.00
		Y	4BV	CS	*J AND J SNACK FOODS SALES CORP	600		
95	FROZEN 100% JUICE CUPS, SPICY, MANGO CHAMOY. 96/4.4oz/CASE			cs	*J AND J SNACK FOODS SALES CORP	400		
	FROZEN 100% JUICE CUPS, SPICY, WATERMELON CHILI LIMON							
96	VERDE, 96/4.4oz./CASE	Y		cs	*J AND J SNACK FOODS SALES CORP	400		
97	HERBED 7" PITA POCKET BREAD. 51% WHOLE GRAIN. 216/CASE		1NL	cs	*STERLING BV INC	400		
		Y	4BV	cs	THE FATHERS TABLE LLC	400	\$42.12	\$16,848.00
	BREADED REDUCED SODIUM MOZZARELLA STICKS, 51%						• • • • •	
98	WHOLE GRAIN, SUITIBLE FOR BAKING. 80 sv/CASE	Y		CS		400	\$49.00	\$19,600.00
				CS CS	BRAUN BEEF CO INC HIGH LINER FOODS USA INC	400	\$51.95 \$64.25	\$20,780.00 \$25,700.00
						400	\$04.23	<i>423,100.00</i>
99	SOUP CUSTOMIZER, MEXICAN TORTILLA. 4/4#/CASE	Y		CS CS	TASTY BRANDS LLC BRAUN BEEF CO INC	400 400	\$64.68 \$43.55	\$25,872.00 \$17,420.00
100	EAT-A-BOWL, 51% WHOLE GRAIN BREAD BOWL. 90/CASE	NA		cs	BRAUN BEEF CO INC	400	\$24.19	\$9,676.00
				cs	SUPER BAKERY INC	400	\$24.64	\$9,856.00
101	BANANA LOAF, SLICED, IW. 51% WHOLE GRAIN. 70/CASE		3TQ.	cs	SUPER BAKERY INC	1000	\$30.33	\$30,330.00
		Y		cs	SKY BLUE FOODS LLC	1000	\$30.80	\$30,800.00
				cs	BRAUN BEEF CO INC	1000	\$31.088	\$31,088.00
<u> </u>				cs	INTEGRATED FOOD SERVICE	1000	\$32.33	\$32,330.00
102	BANANA LOAF, SLICED, BULK PACKED. 51% WHOLE GRAIN. 70/CASE	NA		cs	SUPER BAKERY INC	400	\$30.33	\$12,132.00
				cs	SKY BLUE FOODS LLC	400	\$30.80	\$12,320.00
				cs	BRAUN BEEF CO INC	400	\$31.08	\$12,432.00
103	PUMPKIN LOAF, SLICED, BULK PACKED. 51% WHOLE GRAIN. 70/CASE		3TQ.	cs	SUPER BAKERY INC	400	\$30.33	\$12,132.00
		Y	4BV	CS	SKY BLUE FOODS LLC	400	\$30.80	\$12,320.00
				CS	BRAUN BEEF CO INC	400	\$31.08	\$12,432.00
104	ITALIAN STYLE MEATBALLS MADE WITH DARK MEAT CHICKEN. AVALIABLE FOR COMMODITY PROCESSING. 30# CASE.	Y-alt.		cs	TYSON PREPARED FOODS INC	1000	\$23.40	\$23,400.00
				cs	'PILGRIM'S PRIDE CORP	1000		
					LEGGIN OF RIDE OOR	1000		
105	PANCAKE BOWL, PEACH. IW. 72/CASE CHICKEN WINGS, BONE IN, FULLY COOKED, OVEN ROASTED.	Y	3TQ.	cs cs	*STERLING BV INC *RICH CHICKS, LLC	1000 1000		
.00		Y	4BV	CS	*PILGRIM'S PRIDE CORP	1000		